Answers and mark schemes
Year 2 Plants

Test 2 (mid-topic) Extra information
1. Give it water KU 1
2a. Shoots/leaves appear KU 1
2b. spring A 1
2c. More leaves appear; the leaves get longer; flowers KU 1 Accept any one answer for
appear 1 mark
3a. Bar at height of 5 A/WS 1 Only accept minimal
tolerance of height
3b. Min A/WS
3c. light KU 2 Three correct 2 marks
water Two correct 1 mark
soil
3d. i) 11cm A/WS 1
3d. ii) The number of leaves; how big the leaves are A/WS 1 Accept any one answer for
1 mark
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